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1. ITepedyenb miIaHMpPyeMbIX pPe3yJIbTATOB 00y4eHHs MO0 TUCHUIINHE, COOTHECEHHBIX C
IJIAHUPYEMBbIMH Pe3yJIbTaTaAMH OCBOCHHS IPOrPaMMBbl

1.1. Tuctimrummna b1.B.OJ[.6 ®yHnamentansHas 3xoHoMuKa (Ecopnomics) oOecriednBaeT OBIaJieHUE
CIICIYIONIMMH KOMIICTECHIIUSAMH C YI€TOM JTara:

Kon HaumenoBanune Kon »sTama ocBoeHus HaumenoBaHue 3Tama
KOMIIETEHINH KOMITIETEHIINH KOMITETEHIINH OCBOEHUSI KOMIIETCHIINH
[1K-5 CriocobHOCTh k | [IK-5.1 Crniocoben UCTIOJIb30BaTh
npodeccuoHalIbHOMY HSKOHOMHMYECKHE 3HAHUS IS
COCTaBJICHUIO, MTOHVUMAHHUS " OLICHKH
0 OpMIIEHUIO u MPOLIECCOB B SKOHOMHYECKOI
pEeNaKTUPOBAHHIO cdepe Xu3HU oOmIecTBa Ha
HAy4YHO-TEXHUYECKON pa3IMYHBIX YPOBHSIX.
JOKYMEHTAIIHIH,
HAY4HBIX OTYETOB,
0030pOB, MOKIAIOB U
cTarew, MIPOEKTOB
Hay4YHO-
U CCJIEZIOBATEIbCKIX
pa3paboTok
1.2. B pesynbrare 0CBOEHUS AUCHHUIUIMHBI Y CTYJEHTOB JOJIKHBI OBITH CHOPMUPOBAHBI:
OTO/TO Kon srana Pe3ynbrarel 00yueHus
(pu HATUYHH OCBOCHHMS
npodcranaapra)/ KOMIIETEHIIUH
npodeccuoHaIbHbIE
JNIEUCTBUS

[[nanupoBanue n| I1IK-5.1 OOyyaromuiics 3HAET 0011e00s13aTeIbHbIE

KOODIWHAIIHS TpeOoBaHUS K MPO(ECCHOHATEHOMY COCTaBIICHHIO,

eI TeNbHOCTH opOpMIIEHHI0O ¥  PENaKTUPOBAHUIO  HAYYHO-

M0/Ipa3/IeIeHUs TEXHHYECKOW JIOKYMCHTAIIMH W  TEXHHYECKHE

AHaJIN3 pPe3yIbTaToOB YCIIOBUSAX MX MPEJOCTABICHUS 3aKa3UUKY.

esITeIbHOCTH

Mo Ipa3/ieIeHus

CocraBieHue "

odopmieHue

YIIPABJIEHYECKOU

[TOKyMEHTAIUH.

AHAIN3

MHpOopMaLun u

MO/IrOTOBKA

H(OPMAaIMOHHO-

AHATUTHYECKUX

MaTepuaoB.




2. O0beM U MecTO TUCHHUILINHBI B cTpykType OIl BO
O0BbeM JUCHUIIINHBI

O0beM qucHUIUIAHEL: 72/2 54/2
KonraktHas padora: 16/12
Jlexuuu 8/6

Jlaboparopubie pabOThI
[TpakTrueckue 3austus 8/6
CamocrosrenbHas pabora 56/42

Mecto aucunnimnnsl B ctpykrype OII BO

UHJEeKC 1 HauMeHoBaHue nquciuruiniel: b1.B.OJ[.6 ®ynnamenTanshas sxkoHoMuka (Ecopnomics)

Kypc(bl), cemecTp(bl) WM TPUMECTP(bI) €€ OCBOEHHUS B COOTBETCTBHM C Y4eOHBIM riaHom: 1 kypc, 1
ceMecTp

JMCIUIIIMHA SBISETCS OCHOBOM JIUIs H3yYEHUS:
B1.B.JIB.8.1 Poccus u mnoauTHKa MeXaAyHapoaHbix opranusammii (Russia and the Politics of
International Organizations)

b1.B.JIB.8.2  VYmpasnenue rocynapctsennbiMu ¢puHancamu (Public Finance Management)

dbopma(bl) MPOMEKYTOUHOM aTTECTALIMH B COOTBETCTBUU C YYEOHBIM IJTAHOM: 3a4eT

3. ConepikaHue M CTPYKTYpa IMCUMIIIMHBI

Ounas popma odyuenusn

Ne n/m HauMmeHnoBanue TeMm O0beM qMCcUMIIMHBI (MOYJISA), Yac. ®opma
(pasnenos), Bcero KontaktHas padora CP TeKyuiero
odyuarommxcs ¢ KOHTPOIH -
ycreBaeMoCTH ™ *,
npenogaBarejieM TIPOMesKy TOHOI
10 BHaM Y4eOHBIX 3aHATHI aTTecTanuu*
J/30, JIP/ 20, m3/30, | KC
AOT* AOT* JAOT* P

Temal | PRINCIPLES OF o,T
ECONOMICS 2115 6/54,

Tema 2 | DEMAND, o, T
SUPPLY AND 2/15 6/4,
EQUILIBRIUM ' 5

Tema 3 | EFFICIENCY AND 2/1,5 o,T
GOVERNMENT 6/4,
INTERVENTION 5

Tema4 | PRODUCTION AND 2/1,5 o,T
COST 6/4,

5




Tema5 | PERFECTLY 2/1,5 oT
COMPETITIVE 8/6
MARKETS
Tema 6 | IMPERFECT /15 o,T
COMPETITION ' 8/6
Tema 7 | GDP AND 2/1,5 o,T
INFLATION 8/6
Tema 8 | LABOR MARKETS. 2/1,5 0T
UNEMPLOYMENT 8/6
ITpomesKyTOUHast aTTeCTaIUs 3auer
56/
7212
Bcero: 54/2 8/6 8/6 42

*[pumeuanue — onpoc (0), mecmuposanue (T);

Conep:xanue TUCHHINIHHBI

Tema 1. PRINCIPLES OF ECONOMICS
Introduction to economic thinking. Main questions of economics. Opportunity cost. Production possibility
frontier. Economic principles. Applications: Absolute and comparative advantages

Tema 2. DEMAND, SUPPLY AND EQUILIBRIUM
The law of demand. The law of supply. Market equilibrium. Predicting changes in price and quantity.
Elasticities of demand and supply. Types of goods.

Tema 3. EFFICIENCY AND GOVERNMENT INTERVENTION

Methods of organizing economic activity (market, command economy, majority voting). Benefit, cost and
welfare. Efficiency and justice. Government actions in markets. Consumer surplus and producer surplus. Tax
incidence

Tema 4. PRODUCTION AND COST
Firm’s output decision. The law of diminishing returns. Average and marginal returns. Cost curves and their
properties.

Tema 5. PERFECTLY COMPETITIVE MARKETS
Competitive market equilibrium in short-run and long-run. Competition and efficiency

Tema 6. IMPERFECT COMPETITION
Marginal revenue. Model of monopoly. Deadweight loss of monopoly. Price discrimination. Strategic
interaction and oligopoly. Introduction to Game Theory

Tema 7. GDP AND INFLATION
Introduction to macroeconomics. GDP measurement. Circular-flow model of the economy. Real and nominal
GDP. Price indices and inflation.

Tema 8. LABOR MARKETS. UNEMPLOYMENT
Labor market indicators. Employment and unemployment. Income distribution and income redistribution
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Tema 9. CREDIT MARKETS AND MONETARY SYSTEM
Financial institutions and capital markets. Money market. Central bank and money creation

Tema 10. BUSINESS CYCLES AND MACROECONOMIC POLICY
Short-run economic fluctuations. Aggregate supply and aggregate demand. Fiscal policy. Monetary policy

4. MarepuaJjbl TeKylIero KOHTPOJIA YCIIeBAEMOCTH 00yUYaIOIIUXCS U
(oH1 OLIEHOYHBIX CPEICTB MPOMEKYTOYHOMH aTTeCTAIMYU 10 JUCIHUIIHHE

4.1. (I)OprI H METOAbl TEKYHIECro KOHTPOJIA YCII€EBA€MOCTH, Oﬁy‘lalOIIIHXCﬂ H HpOMe)l(yTO‘lHOﬁ
arrecranmu.

4.1.1. B xoe peaqu3anuy JMCHUIIMHBI MCIOJB3YIOTCS CJIelYIOIIe MeTOAbl TeKyIero KOHTPOoJIs
yCHeBaeMOCTH 00yYAKOIIUXCS:

ITpu npoBeneHNH 3aHATUH JEKIIMOHHOIO TUIIA: OIIPOC, TECTUPOBAHUE,
IIPY NPOBEJICHUH 3aHATUI CEMUHAPCKOIO TUIIA: OIIPOC, TECTUPOBAHHUE;

4.1.2. Dx3aMeH (3a4eT) NPOBOAUTCS C MPUMEHEHHEM CJIeYIOIIHX METO0B (CPeICTB):

3aueT B BUJIE TeCTa U MUCbMEHHOW YacTH
4. 2. MaTtepuaJjbl TeKylIero KOHTPOJIsl yCIIeBaeMOCTH 00y4YaloIIMXCsl.
Tumnosble oneHOYHbIE MATEPHAJIBI 11O TeMe 1

Problem (Opportunity costs)
Peter is an economic consultant and has a job contract with a flexible time schedule. If he prefers, he can work
every day. However, he can also take a leave every day. Peter does not enjoy the process of his job. His
satisfaction from taking a leave for one day corresponds to the value of 5000 rubles. Peter’s friend suggests
going for a day trip to St Petersburg. Peter would be willing to pay up to 15000 rubles for an opportunity to
spend a day in St Petersburg. Should Peter go for this trip if a round trip train ticket costs 6500 rubles and his
daily salary is equal to

(a) 10000 rubles,

(b) 13500 rubles,

(c) 20000 rubles.

Problem (Production possibility frontier, gains from trade)
(a) Jane’s Island’s production possibilities are given in the following table. Draw a graph of the production
possibility possibilities frontier on Jane’s Island. What are Jane’s opportunity costs of producing corn
and cloth at each output in the table?
corn (kg per month) | cloth (m per month)
3 0

= = D

2
6
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(b) Joe’s Island’s production possibilities are given in the following table. What are Joe’s opportunity costs
of producing corn and cloth at each output in the table?

corn (kg per month) | cloth (m per month)
6 0
4 1
2 2
0 3
(c) Does any of the islands have absolute and/or comparative advantages in the production of corn and

cloth?
TI/IHOBbIe OIICHOYHbIC MaTepI/IaJIbI 10 TEME 2

Problem (Demand and Supply)
Consider the following scenarios of possible changes in demand and/or supply and show in a demand-and-
supply diagram the corresponding changes on the market.
(@) What is the predicted effect on the market for crude oil (changes in price and quantity) if the costs of oil
extraction increase due to a reduction of oil reserves?
(b) What is the predicted effect on the market for cars with a high level of fuel consumption if the costs of
oil extraction increase due to a reduction of oil reserves?
(c) What is the predicted effect on the market for air traffic if many consumers no longer fly due to their
fear of safety deficiencies in air traffic?
(d) What is the predicted effect on the market for long-distance train rides if many consumers no longer fly
due to their fear of safety deficiencies in air traffic?
(e) What is the predicted effect on the market for duty-free cigarettes if many consumers no longer fly due
to their fear of safety deficiencies in air traffic?

Problem (Equilibrium and Price Regulations)

The demand for ice cream is given by P = 400 - 2Qp, where P indicates the price and Qp, the quantity of ice
cream demanded. The supply for ice creamis givenby P = 100 + Qg, where Qg indicates the quantity of ice
cream supplied.

(@) Draw the demand curve and the supply curve in the same diagram. Indicate the point of intersection of
demand and supply. Explain its economic meaning.

(b) Suppose that the government sets a minimum price of 300 in order to support the ice cream industry. If
this price prevails in the market, determine the quantity of ice cream demanded and the quantity of ice
cream supplied. What is the quantity exchanged in the market at this price? Show which market
participants are no longer able to buy or sell the good.

Problem (Elasticity)
The table below gives the demand schedule for coffee.
(a) What is the price elasticity of demand when the price of coffee rises from 1000 rubles to 2000 rubles per
kg? Is the demand elastic or inelastic?
(b) The revenue is calculated as the product of price and quantity. What happens to the total revenue when
the price of coffee rises from 1000 rubles to 2000 rubles per kg?
(c) What is the price elasticity of demand when the price of coffee rises from 1500 rubles to 2500 rubles per
kg? Is the demand elastic or inelastic? What happens to the total revenue in this case?
(d) What is the price when total revenue is at its maximum?
(e) What quantity of coffee will be sold at the price that maximizes the revenue? What is the price elasticity
of demand at this price? (Hint: Consider a change in price and quantity such that the revenue-
maximizing price is the average price during this price change.)




price (rubles per kg) | quantity demanded
1000 30
1500 25
2000 20
2500 15

TumnoBbie OIIEHOYHbIE MaTepHuaJbl 110 TEME 3

Problem (Wage regulation on the labor market)
The table below gives the demand schedule and the supply schedule for university graduates on the labor
market. The quantities demanded and supplied are given in hours per day.

quantity demanded | quantity supplied

i )
wage rate (rubles per hour)

600

(&) What is the equilibrium wage and the equilibrium quantity of employment? What is the number of hours
of labor unemployed?

(b) If a minimum wage is set at 700 rubles an hour, how many hours do university graduates work? What is
the number of hours of labor unemployed?

(c) If a minimum wage is set at 900 rubles an hour, what are the number of hours of labor employed and the
number of hours of labor unemployed?

(d) Suppose that demand increases by 500 hours per day. If the minimum wage is 900 rubles an hour, what
is the wage rate paid to university graduates and how many hours of their labor are unemployed?

Problem (Consumer Surplus, Producer Surplus and Deadweight Loss)
In the table below, demand and supply schedules for grape juice are given.

price (rubles per bottle) | quantity demanded | quantity supplied
0 800 0

50 700 100

100 600 200

150 500 300

200 400 400

250 300 500

300 200 600

350 100 700

400 0 800

(a) What is the maximum price that consumers are willing to pay for the 200th bottle?
(b) What is the minimum price that producers are willing to accept for the 200th bottle?
(c) Are 200 bottles less than or greater than the efficient quantity?

(d) What is the consumer surplus if the efficient quantity of grape juice is produced?

(e) What is the producer surplus if the efficient quantity of grape juice is produced?

() What is the deadweight loss if 200 bottles of grape juice are produced?
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TunoBbie OLIEHOYHbIE MarTrepHuaJbl IO TEME 4

Problem (Total factor variation)
The table below shows the production function of Mario’s Pizza-to-Go. Mario must pay $100 a day for each
oven he rents and $75 a day for each kitchen hand he hires. Labor is measured in workers per day and output, in
pizzas produced per day.

(a) Find and graph the average total cost curve for each plant size.

(b) Draw Mario’s long-run average cost curve.

(c) Over what output range does Mario experience economies of scale?

(d) Explain how Mario can use his long-run average cost curve to decide how many ovens to rent.

labor | output plant 1 | output plant 2 | output plant 3 | output plant 4
1 4 8 11 13
2 3 12 15 17
3 11 15 18 20
1 13 17 20 22
Ovens 1 2 3 !

Problem (Product and cost curves. Partial factor variation)

Consider Lindt’s product schedule for “Gold Bunny” chocolate rabbits. Labor L is measured in workers’ hours
per day and the quantity Q (total product), in chocolate rabbits produced per day. The daily wage rate w (price
of labor per day) at Lindt’s factory in Kilchberg is 50 Swiss francs per day, and total fixed costs associated with
chocolate rabbits’ production are SFr 100 per day.

(a) Calculate total cost TC, total variable cost TV C, and total fixed cost TFC for each level of output Q and
draw the short-run total cost curves in a diagram with output quantities on the horizontal axis and cost
values on the vertical axis.

(b) Calculate average total cost ATC, average fixed cost AFC, average variable cost AVC and marginal cost
MC at each level of output and draw the short-run average and marginal cost curves in a separate
diagram.

(c) Suppose that the wage rate increases to SFr 120 per day. Explain what changes occur to the short-run
average and marginal cost curves. Indicate these changes graphically.

(d) Suppose that Lindt buys a second plant and now the total product of each quantity of labor doubles. The
total fixed cost of operating each plant is SFr 100 a day. The wage rate is SFr 50 a day as originally.

i) Set out the average total cost curve when Lindt operates two plants in the graph from (b).
i) Draw the long-run average cost curve in the same graph.
iii) Over what output ranges is it efficient to operate one plant and two plants?
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[~

Q|TC|TVC | TFC | ATC | AFC | AVC | MC
0
12
24
48
84
121
192
240
276
300
312

—

D00 =] Oy O = LoD e

[
—

TunoBble OLIEHOYHbIE MaTepHuaJbl 110 TEME 5

Problem (Perfectly competitive firm)
”Vera Coffee” is one of many coffee shops in the town. It is a price taker with costs of
production shown in the table below.

output ¢ (cups of coffee) | total cost TC (rubles) | MC | AVC | ATC

0 50
300
450
560
690
855
1040
1240

[a—

=] o T = L0 bO

(a) Calculate the marginal cost schedule of the coffee shop.

(b) If coffee sells for 190 rubles a cup, what is the profit-maximizing output of the firm?

(c) What is the shutdown point of the coffee shop?

(d) Over what price range will Vera Coffee leave the industry in the long run? Over what price will other
firms with the same cost structure enter the industry?

(e) What is the price of coffee in the long run if all existing and potential competitors have the same cost
structure?

TunoBblie OLIEHOYHBbIE MATEPHAJIBI IO TeMe 6

Problem (Single-price monopoly)
Dolly’s Diamond Mines produces industrial diamonds and is a single-price monopoly. The tables below show
the demand schedule for industrial diamonds faced by this firm and the firm’s total cost schedule.
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price (3 per kg) | quantity demanded (kg per day) | TR | MR
3200
3000
2800
2600
2400
2200
2000
1800
1600
1400
1200 1

=] O U% = LD b = D

[{=Nw o}

—
=

quantity produced (kg per day) | total cost (5 per kg) | MC
5600
6200
6600
7200
8000
0000
10000
11600
13200
15000

D 00 =1 Tn U W LD D

[
=

(a) Calculate the firm’s total revenue and marginal revenue.

(b) What are the firm’s profit-maximizing quantity and profit-maximizing price? Represent this decision of
the monopolist graphically.

(c) Calculate the economic profit of the monopolist. What is the consumer surplus?

(d) Does Dolly’s Mines use resources efficiently? Why or why not?

Problem (Duopoly and Collusion)
Two firms, Faster” and ”Quicker”, are the only two producers of sports cars on an island that has no contact
with the outside world. The firms collude and agree to share the market equally. If neither firm cheats on the
agreement, each firm makes $3 million economic profit. If either firm cheats, the cheater can increase its
economic profit to $4.5 million, while the firm that abides by the agreement incurs an economic loss of $1
million. If both firms cheat, there is a fierce competition such that both firms just break even. Both firms make
their decisions simultaneously, and neither firm has any way of predicting or monitoring the actions of the
other.
(a) Represent this strategic situation as a game. What is the set of players? What is the set of strategies
available to each player?
(b) What are the possible outcomes in this game and the corresponding payoffs? Represent the payoff
matrix of this game.
(c) Describe the best strategy for each firm in a game that is played just once. Do players have dominant
strategies?
(d) What is the Nash equilibrium in this game if it is played just once?
(e) What is the Pareto efficient outcome? Is the Nash equilibrium of this game Pareto efficient?
(f) Does Adam Smith’s "invisible hand theorem” hold here? Why or why not?

TunoBble OLCHOYHbIC MaTE€pHUAJbI IO TEME 7
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Problem (GDP measurement)
The following table represents the macroeconomic transactions in a country that were performed last year.

transaction dollars
GDP 1,400,000
consumption expenditure 700,000
taxes 350,000
transfer payments 150,000
profits 300,000
investment 350,000
exports 400,000
savings 400,000
imports 350,000

Calculate
(a) the aggregate expenditure,
(b) the net exports,
(c) the government expenditure.

Problem (Inflation)

The people on Coral Island buy only juice and cloth. The CPI basket contains the quantities bought in 2013. The
average household spent $60 on juice and $30 on cloth in 2013 when the price of juice was $2 a bottle and the
price of cloth was $5 a running meter. In 2014, juice is $4 a bottle and cloth is $6 a running meter.

(@) Determine the CPI basket. Calculate the CPI in 2013 and the percentage of the household’s budget spent
on juice in 2013.
(b) Calculate the CPI and the inflation rate in 2014.

TumnoBblie OLIEHOYHbIE MarTrepHuaJbl IO TEME 8

Problem (Unemployment)

Read the following news story from the ”Business Week” that was published on the 24th of June 2008.
Michigan now holds a dubious record: It leads the U.S. in joblessness. The state’s unemployment rate
was 8.5% in May while the U.S. unemployment rate was only 5.5%. The reason is clear: Detroit’s
emphasis on big trucks and sport-utility vehicles has turned sour. But even though the official
unemployment numbers look awful, the reality is worse. The official number does not reflect those
who have given up looking for a job.

In 2010, at 13.6 percent of the state’s labor force, Michigan had the nation’s highest official unemployment rate.
But in 2012, Michigan’s unemployment rate fell to 9 percent, a larger fall than that in the United States as a
whole. Around 11,000 businesses in Michigan produce high-tech scientific instruments and components for
defense equipment, energy plants, and medical equipment.

(@) Why was the reality of the unemployment problem in Michigan actually worse than the 8.5 percent
unemployment rate statistic in 2008?

(b) Was this higher unemployment rate in Michigan frictional, structural, or cyclical? Explain.

(c) What factor led to the favorable 2012 employment results in Michigan compared to the U.S. average?
Was this a frictional, structural or cyclical factor? Explain.
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Problem (Unemployment)
Read the “Economics in the News” section on pp. 568-569 in Ch. 22 of Parkin’s “Economics” including the
Economic Analysis. Answer the following questions.

(a) How many jobs must be created each month to keep pace with a growing population?

(b) What normally happens to the unemployment rate when the pace of job creation exceeds the growth of
population?

(c) Why might the unemployment rate sometimes increase, when the pace of job creation exceeds the
growth of population?

(d) How would you expect the labor force participation rate to respond to job creation in excess of
population growth?

(e) How would you expect the increase in real GDP to affect jobs and unemployment?

TunoBble OLIEHOYHbIE MaTepHuaJbl 110 TEME 9

Problem (The loanable funds market)
In 2010, a household had disposable income of Euro 80,000, wealth of Euro 140,000, and an expected future
income of Euro 80,000 a year. At a real interest rate of 4% a year, the family saves Euro 15,000 a year; at a real
interest rate of 6% a year, the family saves Euro 20,000 a year; and at a real interest rate of 8% a year, they save
Euro 25,000 a year.
(a) Draw a graph of the household’s supply of loanable funds.
(b) Suppose that in 2011 the stock market crashes and the default risk increases. Explain how this increase
in default risk influences the household’s supply of loanable funds. Indicate this change graphically.
(c) Indicate graphically the effect of a decrease in the supply of loanable funds and an even larger decrease
in the demand for loanable funds on the real interest rate and the equilibrium quantity.

TumnoBblie OLIEHOYHbIE MarTrepuaJbl IO TEME 10

Problem (Government in the loanable funds market. Fiscal policy)

The table below shows an economy’s demand and supply for loanable funds schedules, when the government
budget is balanced, i.e. when the tax revenue exactly equals the sum of government expenditure and transfers.
The real interest rates are expressed in % per year and the quantities of loanable funds, in billions of Euro.

real interest rate | loanable funds demanded | loanable funds supplied
4 850 550

5 800 600

6 750 650

7 700 700

8 650 750

9 600 800

10 550 850

(a) Determine the real interest rate, the quantity of investment, and the quantity of private saving if the
government budget is balanced. Indicate this equilibrium solution graphically.

(b) Suppose that the government has now a budget surplus of Euro 100 billion. Determine the real interest
rate, the quantity of investment, and the quantity of private saving. Is there any crowding out of private
saving by the government saving?

(c) Suppose that the government has now a budget deficit of Euro 100 billion. Determine the real interest
rate, the quantity of investment, and the quantity of private saving. Is there any crowding out in this
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situation?

(d) Suppose that the government still has a budget deficit of Euro 100 billion, and the Ricardo-Barro effect
occurs, i.e. rational taxpayers respond to this budget deficit by increasing their private saving in order to
finance the budget deficit. Determine the real interest rate, the quantity of investment, and the quantity
of private saving. Is there any crowding out in this situation?

4.3. OneHO4YHbIE CPeACTBA JAJIS IPOMEKYTOYHOM aTTecTallMu.

4.3.1. ®opMupyemMblie KOMNETEeHIUH

Kon HanmenoBanne Kox sTama ocBoeHus HanmenoBanune sTana
KOMIIETEHITUN KOMIIETEHITHN KOMIIETEHITHN OCBOEHUS KOMIIETEHIINHU
[IK-5 CriocoOHOCTB K | IIK-5.1 CnocobeH HCIIOJIb30BaTh
npoQeCcCuOHATBLHOMY SKOHOMUYECKUE 3HAHUS IS
COCTAaBJIEHUIO, IMOHHUMAaHUS u OIICHKHU
0hOpMIIEHUIO u MIPOIIECCOB B 9KOHOMHYECKOM
PEIAKTUPOBAHHIO chepe xu3HM oOIIECTBa Ha
HAYYHO-TEXHUICCKON Pa3IMYHBIX YPOBHSIX.
JIOKyMEHTAIINH,
HAYYHBIX OTYETOB,
0030pOB, MOKJIAI0B U
crarei, IIPOEKTOB
HAy4HO-
HCCIICH0BATEIbCKUX
pa3paboToK

4.3.2 TunoBble OLIEHOYHbIE CPEACTBA

PART I: MULTIPLE CHOICE QUESTIONS. (2 points per question, up to 40 points overall)

In Part I, there are 20 questions. For each question, there is exactly one true answer option. Please choose the true options
and indicate them clearly in the empty fields on the right-hand side of the page.

Ice cream (millions of gallons per year)

0 o2 3 4 5 6
Milk (millions of gallons per year)
1) The figure above shows the production possibilities frontier for a country. A combination of 4 million 1) B
gallons of milk and 4 million gallons of ice cream is
A) unattainable and production efficient.
B) unattainable.
C) attainable and production efficient.
D) attainable and production inefficient.
E) More information is needed to determine if the point is attainable or not.
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Wine (thousands of bottles per year)

0 3 6 9 12 15
Rice (tons per year)

2) The above figure shows the production possibility frontier for a country. Suppose the country is producing

at point B. What is the opportunity cost of increasing the production of rice to 12 tons?
A) 9 thousand bottles of wine

B) 6 thousand bottles of wine

C) 12 tons of rice

D) 15 thousand bottles of wine

E) Nothing, the opportunity cost is zero.

2) B

Fish (thousands of pounds per year)

250} -sveromenead SR, fresssssenen o e fuosesess

b s R R SR R

50 Lo ......... ........... Fre“f:h PPF; .........

0 100 200 300 400 500
Wheat (thousands of bushels per year)

3) The figure above shows the production possibilities frontiers for the United Kingdom and France. Whatis 3) _ B
the opportunity cost of one bushel of wheat for the United Kingdom?
A) 200 pounds of fish

B) 1 pound of fish
C) 2 pounds of fish
D) 1/4 of a pound of fish
E) 1/2 of a pound of fish

4) The figure above shows the production possibilities frontiers for the United Kingdom and France. If the 4) _C

United Kingdom and France specialize and engage in trade, the United Kingdom will export
and France will export

A) wheat; wheat
B) nothing; nothing
C) fish; wheat

D) fish; fish

E) wheat; fish

5) In a recession, consumers have less income to spend. As a result, if dining out is a normal good, then 5 _ D
which of the following would happen to the demand curve for dining out?
A) The demand curve would shift rightward.

B) The demand curve would not shift but the price of dining out would rise.
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C) The effect on the demand curve is unknown.
D) The demand curve would shift leftward.
E) The demand curve would not shift but the price of dining out would fall.

6) Oil refiners can refine a barrel of petroleum so that it yields either more home heating oil or more diesel
fuel. If the price of diesel fuel falls, there is
A) an increase in the supply of home heating oil.
B) an increase in the demand for home heating oil.
C) a decrease in the supply of home heating oil.
D) a decrease in the quantity of home heating oil supplied.
E) an increase in the quantity of home heating oil supplied.

Salads (per hour)

- smoothies
from Liz

\ : Liz buys
...................... 4 A | 20salads
Joe buys 10 V% | from Joe

1 t T »
0 5 10 15 20 25 30 35 40
Smoothies (per hour)

7) The figure above shows Liz's and Joe's production possibilities for Salads and Smoothies.

Using the figure, suppose with no trade Liz and Joe each produce at point A on their respective PPFs.
Then, Liz suggests that they specialize and trade. She would produces only smoothies and Joe would
produce only salads. Then she would sell 10 smoothies to Joe at a price of 2.5 salads per smoothie. In this
scenario,

A) Liz gains 5 smoothies, and Joe gains 10 smoothies.

B) Liz gains 10 smoothies and 5 salads, and Joe gains 5 smoothies.

C) Liz gains 5 smoothies and 5 salads, and Joe loses 5 salads.

D) Liz gains 10 smoothies, and Joe loses 5 smoothies.

E) Neither of the individuals gains from trade.

Price Quantity demanded Quantity supplied
(dollars per gallon) (gallons of gasoline) (gallons of gasoline)

37. 337,982 441,074

3.68 396,398 428,008

3.65 412,031 412,031

3.62 417,899 391,665

8) The table above shows the situation in the gasoline market in Tulsa, Oklahoma. If the price of a gallon of
gasoline is $3.62, then

A) there is a surplus of gasoline in Tulsa.
B) there is a shortage of gasoline in Tulsa.
C) the gasoline market in Tulsa is in equilibrium.

D) Without more information we cannot determine if there is a surplus, a shortage, or an equilibrium in
the gasoline market in Tulsa.

E) There is neither a surplus nor a shortage, but the market is NOT in equilibrium.

6) _A_
7 _B_
8 _B
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9) The demand for oranges increases while the supply decreases. The equilibrium price of oranges

and the equilibrium quantity .
A) falls; perhaps changes but we can't say if it increases, decreases, or stays the same
B) rises; decreases
C) falls; increases
D) rises; perhaps changes but we can't say if it increases, decreases, or stays the same
E) does not change; perhaps changes but we can't say if it increases, decreases, or stays the same

10) The technology associated with manufacturing computers has advanced enormously. This change has led
to the price of a computer and the quantity .
A) falling; increasing
B) falling; not changing
C) rising; increasing
D) falling; decreasing
E) rising; decreasing

Price (dollars per HD TV) Price (dollars per HD TV)

I S «;\ S

D, D,
D, D,
Quantity (TVs per month) Quantity (TVs per month)
Figure A Figure B
Price (dollars per HD TV) Price (dollars per HD TV)
S $2

l S, l S

D D

Quantity (TVs per month) Quantity (TVs per month)
Figure C Figure D

11) The above figures show the market for HD televisions. If cable television providers lower the price of
providing HD cable service, which figure shows the effect of this change?

A) Figure A
B) Figure B
C) Figure C
D) Figure D
E) None of the figures represent this change.
Price Quantity demanded
(dollars per skirt) (skirts per year)
20 30
35 25

12) Using the data in the table above, when the price of a skirt rises from $20 to $35, what is the price
elasticity of demand? (Use the midpoint method.)

A) 0.33 B) 3.00 C) 1.00 D) 1.33 E) 0.25

13) If a 10 percent increase in income leads to a 5 percent decrease in the demand for a good, the income
elasticity of demand equals and the good is good.

9)

10)

11)

12)

13)

D

A

A

A

_Cc
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A) -5; an inferior
B) 2; a normal

C) -1/2; an inferior
D) -2; a normal

E) 1/2; a normal

14) Which of the following is true?

14) E
i. The supply of a good is inelastic if when its price changes, the percentage change in the quantity
supplied exceeds the percentage change in price.
ii. Price elasticity of supply equals the percentage change in the quantity supplied divided by the
percentage change in price.
iii. If demand is price elastic, a rise in price leads to a decrease in total revenue.
A) only i B) only ii C) only iii D)iandii E) ii and iii
Price (dollars per pizza)
0 ; 10 I‘S 2'0
Quantity (thousands of pizzas per day)
15) The figure above shows the market for pizza. If pizza production is restricted to 5,000 pizzas a day, the 15 _C

deadweight loss is
A) $22,500 per day.
B) $45,000 per day.
C) $25,000 per day.
D) $12,500 per day.
E) zero.

Price (dollars per DVD)

22 +

T T T T T T

0 100 200 300 400 500 600 70
Quantity (thousands of DVDs)
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16) The above figure shows the market for DVDs. The government decides that all citizens deserve to watch

affordable DVDs so a price ceiling of $12 per DVD is placed on DVDs. After this price ceiling is in effect,

deadweight loss equals

A) $800,000 B) $l,80.0,000

C) $400,000 D) $200,000
Quantity of Labor (workers) 0112 |3[4]|5]|6
Total Product (units per hour) 0]2]|5|9|15|18]|17

E) $1,600,000

17) The table above shows the total product schedule for The X Firm. Decreasing marginal returns occur with

the worker because
A) 6th; output starts to decline

B) 5th; the marginal product of labor for the 5th worker is less than the marginal product of the 4th

worker
C) 4th; output reaches is maximum
D) 5th; the average product of labor is also declining

E) 6th; the marginal product of labor is greater than the average product of labor

18) As we observe the cost curves graph, we see that the
A) ATC curve always has a negative slope.

B) MC curve intersects the AVC curve and ATC curve at their minimums.

C) MC curve intersects the ATC curve at its maximum.

D) MC constantly falls as output increases.
E) MC curve cannot be U-shaped.

Revenue and cost (dollars per unit)

40

50

Output (units per day)

19) The above figure shows a perfectly competitive firm. If the market price is more than $20 per unit, the

firm
A) will definitely shut down to minimize its losses.

B) will stay open to produce and will make zero economic profit.
C) will stay open to produce and will incur an economic loss.

D) will stay open to produce and will make an economic profit.

E) might shut down but more information is needed about the fixed cost.

20) To maximize its profit, a single-price monopoly produces the amount of output so that its marginal

revenue
A) is less than its marginal cost.

B) exceeds its marginal cost but not necessarily by as much as possible.

C) equals zero.
D) equals its marginal cost.

16) _A__

17) _B__

18) _ B

19) _D

200 _D___
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E) exceeds its marginal cost by as much as possible.

PART Il. PROBLEMS.
PROBLEM 11-1. (30 points)

The demand and supply schedules for blueberry muffins are given in the following table.

Price Quantity Quantity

(rubles per demanded supplied
muffin) (millions per day)
10 8 0
15 7 1
20 6 2
25 5 3
30 4 4
35 3 5
40 2 6
45 1 7
50 0 8

a) Sketch the demand and the supply curves below. Determine the equilibrium quantity and the
equilibrium price. (8 points)

b) Calculate the consumer surplus, the producer surplus and the total surplus in this market
equilibrium. (8 points)

CS = 0.5%(50 - 30)*4 = 40
PS = 0.5*(30-10)*4 = 40
TS =40 + 40 = 80

c) Suppose that government introduces a unit tax on buyers of 20 rubles a muffin. What will be the
new price paid by the buyers and the new price received by the sellers? (8 points)

Q=2

Ps=20

Pg =40

d) How is the total tax burden distributed between the sellers and the buyers? Explain how this
distribution of the tax burden is related to the elasticities. (6 points)
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Each side pays Y2 of the total tax burden. The distribution of the tax burden between sellers and
buyers is determined by the elasticities of demand and supply. Since the price elasticity of demand is
-1.5 and the price elasticity of supply is 1.5 at the market equilibrium, the tax burden is distributed
equally between buyers and sellers.

PROBLEM 11-2. (30 points)

(O]

N

Price (dollars per unit)

w

0 10 20 30 40 50 60
Quantity (units per week)

Consider the demand and supply curves for a consumption good in the graph above.

a) Explain which curve shows the marginal benefits and which curve shows the marginal cost. Is the
marginal cost increasing or decreasing and why? (5 points)

The downward-sloping demand curve shows the marginal benefits. The upward-sloping supply curve
shows the marginal cost. The marginal cost is increasing with more production. This is because the
supply curve corresponds to the part of the marginal cost curve that lies above the average cost and is
upward-sloping. The economic reason is that, typically, the firm exploits gains from division of labor
and specialization and produces quantities such that additional production can only occur with more
than proportionate usage of production factors that become scarce and thus more costly.

b) Explain which curve shows the marginal willingness to pay of the consumers. How does it
change with more consumption and why? (5 points)

The willingness to pay of the consumers is represented by the demand curve. The vertical level of
each point on this curve indicates the additional benefit and thus the maximum willingness to pay for
an additional unit of the good. Since consumers’ marginal benefit decreases with more consumption,
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they are not willing to pay as much as for the first units of the good. Therefore, the marginal
willingness to pay for the good is decreasing.

c) What are the equilibrium quantity and the equilibrium price in this market without government
intervention? Is this outcome (Pareto) efficient? Why or why not? (5 points)

Without government intervention, the equilibrium quantity is 30 and the equilibrium price is 3. This
outcome is Pareto efficient as it is an outcome of a perfectly competitive market. By the 1st theorem
of welfare economics (invisible hand), every perfectly competitive market equilibrium is Pareto
efficient since it is impossible to attain a higher level of social welfare (sum of producer and
consumer surplus).

d) Describe how this outcome will change if the government introduces a maximum price of 2
dollars. What will be the quantity sold and bought? What is the efficiency loss of the society? (5
points)

With a maximum price of 2, the quantity demanded is 40 and the quantity supplied is 20. Thus, there
is an excess demand of 20. The quantity sold is determined by the supply side and amounts to 20. The
deadweight loss is 0.5*(4-2)*(30-20)=10.

e) Now assume that the government introduces a quota of 10 units per week. What are the possible
market prices in this situation? What is the efficiency loss of the society? (5 points)

With a quota of 10, the maximum willingness to pay of the buyers is 5 whereas the lowest
acceptable price for the producers is 1. The deadweight loss is 0.5*(5-1)*(30-10)=40.
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IHoka3zarenn Kpurepun
OIleHUBAHUS OIleHUBAHUS
OOyuaroiuiics 3HaeT 1. He UMeEeT 0a30BBIX

o0mreo0s3aTenbHbIe 3HaHUM.
TpeOOBaHUS K 2. ®parMeHTapHbIC 3HAHUS.
npohecCHOHAIEHOMY 3. JemoHctpupyet

COCTaBJICHU0, 0(OPMIICHHUIO
Y peIaKTUPOBAHUIO HAYYHO-
TEXHUYECKON JTOKYMEHTALNU
Y TEXHUYECKHUE YCIOBUAX UX
MIPEIOCTABIICHUS 3aKa3UUKY.

YaCTUYHBIC 3HAHUSI.

4. CdopmMupoBaHHBIE, HO
coziepKaliie  OTAeNbHBIC
poOeIbl 3HAHUS.

5. CdopmupoBanHbie

CHUCTEMaTUYCCKUE 3HAHUSI.

TpaguunonHas
OLlCHOYHasA
CHUCTEMA
BaLisl PAHXuI'C Onncanue KpuTEpUEs ouCHKH
- Grade Distribution Guidance
Grades Traditional
(0-100) | grading system in
RANEPA
The course is fully mastered. Student presents high level of professional
knowledge of all the relevant issues, uses terminology and applies
80 - 100 Excellent 5 | theoretical parts in problem solving; knows how to deal with specific
guestions beyond the course. Student presents well-reasoned position on
the key issues of the course.
The course is fully mastered. Student presents good standards of
65 -79 Good 4 | professional knowledge of the relevant issues, uses terminology and
applies theoretical parts in problem solving fairly well.
The student has sufficient level of knowledge of all the problems of the
55-64 | Satisfactory | 3 | course; knows terminology and understands how the theoretical material
can be used as a tool to solve practical problems.
The student has knowledge of almost all the problems of the course; knows
50-54 | Satisfactory | 3 | terminology and understands how the theoretical material can be used as a
tool to solve practical problems.
Marginal The student has some knowledge of the problems of the course; presents
45 - 49 3 . . .
Pass weak knowledge of terminology and problems solving technique.
. Students is not prepared and does not present sufficient knowledge of the
0-44 Fail 2 .
course material
The course is fully mastered. Student presents good standards of
45-100 Passed professional knowledge of  the relevant issues, uses terminology and
applies theoretical parts in problem solving fairly well.
0-44 Not Passed Students is n_ot prepared and does not present sufficient knowledge of the
course material

4.4 MeToanyecKkue peKoMeHAaluu
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Students’ knowledge is assessed by testing method. A test is an assessment intended to measure
a test-taker's knowledge and skill. Test combines two forms: written form and multiple choice
form. Student is expected to solve 80 percent of the test in order to get highest mark. All the
grades for the test are presented in the table above.

5. Metoaguyeckue ykazanus AJsl 00y4al0MIMXCS M0 OCBOEHUI0 TUCHMILINHBI (MOTYJIsA)

Banatus no gucnuiuimae «Introduction to Economics» mpencTaBieHbl CIEAYIONIMMU
BUJIaMU PAOOTHI: JICKIIMOHHBIC U MPAKTUYECKUE 3aHATHSI, CAMOCTOSITENIbHAsI pab0Ta CTY/IEHTOB.

Ha nekmusix cTyaeHTBl 3HAKOMSTCS C HOBBIM MaTepHUalioM, 3aJal0T BOIPOCHI, BEIYT
KOHCHEKT Jekuuu. Ha mpakThuueckux 3aHATUSIX CTYACHTHI BBIMOJHSIOT 3a/laHUs], CBSI3AHHBIC C
00CY)XJICHHEM OT/CIIBHBIX BOTIPOCOB.

CamocrosiTestbHas ~ paboTa  MPOBOAWTCS ~ BO  BHEAyIUTOpHOE  Bpemst  Oe3
HEMOCPEJCTBEHHOTO y4yacTusi IMpernojaBaTens (MIOATOTOBKA K MPAKTHYECKUM 3aHSATHUSIM,
u3ydeHue y4eOHOro maTepHuayia, OTHECEHHOTO0 K CaMOCTOSATEIbHOMY OCBOCHHIO, BBIMIOJHEHUE
JIOMAIITHETO 3a/IaHus, MMOATOTOBKA JOKJIAJ0B, MOArOTOBKA K MPOMEXYTOUHOM aTTectanuu). Bo
BpeMsi CaMOCTOSTEIbHOW paOOThl CTYIEHTHI HCIOJL3YIOT MaTepHallbl JIEKIUH, Hay4HO-
METOJMYECKYI0 JIUTEepaTypy, MEpPBOUCTOUYHUKH, COBPEMEHHYI0O HAy4YHYIO JIUTEparypy,
NMEePUOUYECKYI0  JINTEpaTypy, Marepuaibl, coaepxkammecs B  cetu  «uTepHETY.
CamocTosaTenbHy0 paboTy BO BHEAYTUTOPHOE BpEMs CTYJEHTHI MOTYT IIPOBOJIUTH B ONOIHOTEKE
AxkanemMun.

6. VYueOHas JuTepaTypa U pecypcbl HHPOPMANMOHHO-TEJIeKOMMYHHKAIIMOHHOI ceTH
"HHTepHeT", BKJIIOYasi IepedYeHb y4e0HO-MeTOAMYeCKOro odecnedeHus 1JIst
CaMOCTOSITeJIbHOH PadoThbl 00y4aI0IUXCS M0 JUCHHUILIHHE (MOAYJII0)

6.1. OcHOBHas IUTEpaTypa.
Parkin, Michael “Economics. Global Edition”, 12th edition, Pearson Education, 2016.
6.2. JlomoHUTEbHAS TUTEPATYPA.

Parkin, Michael, Melanie Powell, and Kent Matthews. (2014), Economics. European Edition, 9th
edition, Pearson Education

Acemoglu, Daron, Laibson, David, and John A. List (2016), Economics. Global edition, Pearson
Education

Samuelson, Paul, and William Nordhaus (2010), Economics, 19th edition (available in Russian
translation: ITon 3. Camtioanbcon, Bunesam JI. Hopaxayc. Dxonomuxka. [lep. ¢ anri. 19-oro usg. -
M.: “Bunbsmc”, 2015.)

Witztum, Amos (2005), Economics: An Analytical Introduction. Oxford University Press

6.3. Y4yeOHO-MeToIu4YeCcKOe 00eCreueHrne CaMOCTOSTENbHOM paboTHI.
6.4. HopMaTuBHbIE NTPaBOBbIE JOKYMEHTHI.

6.5. UHTEepHET-pECYpCHI.

http://www.pearsonhighered.com/parkin

http://economicus.ru/library.html

6.6. IHple MCTOYHUKMU.


http://www.pearsonhighered.com/parkin
http://economicus.ru/library.html
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7. MarepuajibHO-TeXHHYECKasi 0a3a, NH(POPMAIMOHHBIE TEXHOJIOTMH, IPOrPAMMHOE
o0ecnieyenre U UHGOPMALMOHHBbIE CIPABOYHbIE CHCTEMbI

Jns  npoBeneHust Kypca TpeOyercs Kiacc, OOOpYIOBaHHBIM JOCKOW, MapKepamu,
KOMITBIOTEPOM U IIPOEKTOPOM.

W3yyeHne IUCHMILIMHBI TPeOyeT HaJMYue MEPCOHATBHBIX KOMIBIOTEPOB M HHTEPHET-
KJIACCOB JJIsl TIOMCKAa JIOMOJIHUTEIbHOW HHGOpPMAlMM BO BpPEMs CaMOCTOSTEIbHOM pabOThI
CTYICHTOB.



